
 

  

APRIL 2020 60515/BYA6C/CYA6C 

Time : 1 2
1  hours Maximum : 75 marks 

PART A — (5  3 = 15 marks) 

Answer any FIVE questions. 

1. What is cost of acquisition? 

 öPõÒ•uÀ AhUP® Gß£x GßÚ? 

2. Which attracts tax on capital gains? 

 ‰»uÚ Buõ¯[PÎß «uõÚ Á›ø¯ Dº¨£x Gx? 

3. How do you tax income from lottery? 

 GÆÁõÖ »õmh› Á¸©õÚzvØS Á› Âv¨¥º? 

4. How do you deal with receipts by cricketers of Indian team? 

 C¢v¯ Q›UöPm Ao ÃμºPÎß ö£ÖuÀPøÍ GÆÁõÖ 

øP¯õÐÃº? 

5. What do you mean by clubbing of income? 

 Á¸©õÚ J¸[Qøn¨¦ £ØÔ }Âº AÔÁx ¯õx? 

6. Mention any two deemed incomes. 

 P¸u¨£mh Á¸©õÚ[PÎÀ H÷uÝ® CμsiøÚU SÔ¨¤kP. 

7.  Give the reason for tax exemption for agricultural income. 

 ÂÁ\õ¯ Á¸©õÚzvØS Á› Â»UPÎzu¼ß PõμnzvøÚz u¸P. 

8.  What do you mean by deductions u/s. 80C? 

 80C ¤›Âß RÌ PÈÄPÒ £ØÔ }Âº AÔÁx ¯õx? 

9. What does the term “individual” denotes? 

 “|£º” GßÓ Áõºzøu GøuU SÔUQßÓx? 

10. How do you assess income of a minor or lunatic individual? 

 CÍÁº AÀ»x ©Ú{ø» \›°À»õu |£›ß Á¸©õÚzøu GÆÁõÖ 

©v¨¤kÃº? 

11. Give the legal provision on rebate u/s.87A. 

 87A ¤›Âß RÌ uÒÐ£i £ØÔ¯ \mha \μzxUPøÍz u¸P. 

12. What do you mean by set-off and carry forward of losses? 

 \›PmhÀ ©ØÖ® |mh[PøÍ •ß öPõsk ö\À»ø»¨ £ØÔ }Âº 

AÔÁx ¯õx? 



 60515/BYA6C/CYA6C 2

PART B — (3  10 = 30 marks) 

Answer any THREE questions. 

13. State whether the following are capital assets or non-capital 

assets. 

 Patents (self-generated) - Rs.10,000 

 Patents (acquired) - Rs.5,000 

 Trade marks (self-generated) - Rs.15,000 

 Brand name (acquired) - Rs.4,000 

 Bonus shares acquired - Rs.12,000 

  ¤ßÁ¸£øÁ ‰»uÚa ö\õzxUPÍõ AÀ»x ‰»uÚ©ØÓ 

ö\õzxUPÍõ GßÖ TÓÄ® 

 Põ¨¦›ø© (_¯ E¸ÁõUP®) - Rs.10,000 

 Põ¨¦›ø© (Áõ[Q¯x) - Rs.5,000 

 Â¯õ£õμUSÔ (_¯ E¸ÁõUP®) - Rs.15,000 

 Aøh¯õÍ¨ ö£¯º (Áõ[Q¯x) - Rs.4,000 

 FUP¨ £[SPÒ Áõ[Q¯x - Rs.12,000 

14. From the following details, ascertain the taxable interest income 

of Miss. Leela for the Previous Year 2018-2019 : 

 (a) Investment in tax free 10% Debentures in X Ltd. (unlisted 

Rs.1,40,000 

 (b) Interest received on Debentures in Y Ltd. (listed) Rs.45,000 

 v¸ ½»õÂß •¢øu¯ Bsk 2018–2019 US›¯ Á›US 

Em£kzu¨£k® Ámi Á¸©õÚzøuU PnUQkP  

 (A) X ¼m ß (£mi¯¼h¨£hõuøÁ) Á›Â»UPÎUP¨£mh  

10 \uÃu Phß £zvμ[PÎÀ •u½k ¹.1,40,000 

 (B) Y ¼mß (£mi¯¼h¨£mhøÁ) Phß £zvμ[PÒ «x ö£ØÓ 

Ámi ¹.45,000. 
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15. Mr. Ram transferred a property worth Rs.2 Lakhs to his son’s 
wife on 10.6.2016. The income accrued to her from the property 
was Rs.30,000 during the previous year 2018–2019. Who is 
liable to pay tax? Give reason. 

 v¸ μõ® ¹.2 C»m\® ©v¨¦ÒÍ J¸ ö\õzøuz uÚx ©PÛß 

©øÚÂUS 10.06.2016 AßÖ ©õØÔÚõº •¢øu¯ Á¸h®  

2018–2019 À A¨ö£soØS Aaö\õzvß «x ¹.30,000 Á¸©õÚ® 

QøhUP¨ ö£ØÓx. ¯õº Á› ö\¾zu ÷Ásk®? Põμn® TÖP. 

16. Calculate the deduction allowable u/s.80D to Mr.Mani  
(Age – 30 years) having the following incomes for the assessment 
year 2019-2020: 

 Business income - Rs.83,000 

 Interest on debentures - Rs.49,000 

 Payment of medical insurance premium on own life - Rs.3,000 

 Preventive medical check-up of wife - Rs.4,500 

 An expenditure of Rs.27,000 is incurred for medical purpose of 
his father who is of 82 years. 

 ©v¨¥mk Bsk 2019&2020 BsiÀ ¤ßÁ¸® Á¸©õÚ[PøÍU 

öPõsh v¸. ©oUS (Á¯x – 30 Á¸h[PÒ) ¤›Ä 80D ß RÌ 

AÝ©vUP¨£mh PÈÄPøÍU PnUQkP. 

 Â¯õ£õμ Á¸©õÚ®  - ¹.83,000 

 Phß £zvμ[PÎß «x Ámi - ¹.49,000 

 ö\õ¢u B²Îß «x ©¸zxÁU Põ¨¥mk •øÚ©®   

 ö\¾zv¯x   - ¹.3,000 

 ©øÚÂ°ß uk¨¦ ©¸zxÁ ÷\õuøÚ - ¹.4,500 

 82 Á¯uõÚ AÁ›ß u¢øu°ß ©¸zxÁU Põμn[PÐUS ¹.27,000 

ö\»ÁõÚx. 

17. Mention the income tax rates of an ordinary male individual 
whose age is 35 for the assessment year 2019-2020. 

 35 Á¯uõÚ J¸ \õuõμn Boß 2019&2020&® Á›Âv¨¦ 

BskUS›¯ Á¸©õÚ Á›ÂQu[PøÍU SÔ¨¤kP. 

18. Mention the order of set-off of business loss. 

 Â¯õ£õμ |mh \›Pmh¼ß Á›ø\°øÚU SÔ¨¤kP. 

19. Give any 10 deductions u/s.80C of the Income Tax Act. 

 Á¸©õÚ Á›a\mh® ¤›Ä 80C ß RÌ H÷uÝ® £zx PÈÄPøÍz 

u¸P. 
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PART C — (2  15 = 30 marks) 

Answer any TWO questions. 

20. Compute the amount of capital gains exempted u/s.54 and 
capital gains chargeable to tax in relation to the following 
transactions. 

 Vasan sells a residential house property in Chennai for 
Rs.99,00,000 on 25th April 2018 which was acquired by him on 
10th May 2011 for Rs.5,00,000. In August 2018, he purchases a 
house in Madurai for Rs.15,00,000. On 30th June 2019, he sells 
the house property in Madurai for Rs.20,00,000. The Cost 
Inflation Index for 2011-2012 is 184 and 2018-2019 is 280. 

 ¤ßÁ¸® £›©õØÓ[PÐhß öuõhº¦øh¯ ¤›Ä 54 ß RÌ 

Á›Â»USÒÍ ©ØÖ® Á›US Em£mh ‰»uÚ Em£mh ‰»uÚ 

Buõ¯[PÎß AÍøÁU PnUQhÄ®. 

 Áõ\ß Gß£Áº ö\ßøÚ°À ÷© 10, 2011 AßÖ ¹.5,00,000 

¹£õ´US Áõ[Q¯ J¸ u[S® Ãmka ö\õzøu 2018 B® Bsk 

H¨μÀ ©õu® 25 B® ÷uv¯ßÖ ¹.99,00,000 US ÂØQÓõº BPìm 

2018 À ©xøμ°À ¹.15,00,000 ØS J¸ Ãmøh Áõ[SQÓõº. 2019 

B® Bsk áüß ©õu® 30 B® ÷uv ©xøμ Ãmka ö\õzvøÚ 

¹.20,00,000 US ÂØQÓõº 2011-2012 UPõÚ ö\»Ä £nÃUPU 

SÔ±k 184 ©ØÖ® 2018-2019 US 280 BS®. 

21. Kannan of Salem constructed a factory with building, plant, 
machinery, furniture etc. However, he decided to lease out the 
factory on a hire charge of Rs.25,000 per month. During the 
previous year 2018-2019, he spent Rs.15,000 for repairs and 
Rs.10,000 for insurance on the assets. Allowable depreciation is 
Rs.35,000 p.a. Ascertain his income from other sources from the 
above details. 

 ÷\»zøu \õº¢u Psnß Gß£Áº Pmhh®, ö£õÔ, G¢vμ®, 

AøÓP»ßPÒ EÒÎmh J¸ öuõÈØ\õø»ø¯U PmiÚõº 

C¸¨¤Ý®, AÁº ©õuzvØS ¹.25,000 ÁõhøPUS Bø»ø¯U 

SzuøPUS Âh •iÄ ö\´uõº Ph¢u 2018&2019 B® BsiÀ 

£Êx£õº¨¦UPõP ¹.15,000 ©ØÖ® ö\õzxUPÎß «uõÚ 

Põ¨¥miØPõP ¹.10,000 ö\»ÁÈzuõº AÝ©vUP¨£mh ÷u´©õÚ® 

Á¸hzvØS ¹.35,000 BS®. ÷©ØTÔ¯ ÂÁμ[PÎ¼¸¢x AÁ›ß 

¤Ó Buõμ[PÎß ‰»® ö£ØÓ Á¸Áõø¯ AÔ¯Ä®. 
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22. From the following particulars, compute the total income of Mr. 
David for the Assessment Year 2019-2120. 

Particulars Rs. 

Loss from house property (–) 10,000 

Short term capital gain on sale of shares 1,05,000 

Long term capital gain on sale of bonds (–) 85,000 

Other sources : Interest on Government securities 10,000 

 The assessee has unabsorbed depreciation of Rs.25,000 being 
brought forward from 2016-2017. Assessee has closed the 
business and all the assets have been disposed of. 

 ¤ßÁ¸® uPÁÀPøÍU öPõsk ©v¨¥mk Bsk 2019&2020 ØS 

v¸. ÷hÂmiß ö©õzu Á¸©õÚzøuU PnUQkP 

ÂÁμ[PÒ ¹. 

Ãmka ö\õzx |mh® (–) 10,000 

£[S ÂØ£øÚ°À SÖQ¯ Põ» ‰»uÚ Buõ¯® 1,05,000 

£zvμ ÂØ£øÚ°À }sh Põ» ‰»uÚ Buõ¯® (–) 85,000 

¤Ó Buõμ[PÒ Aμ_ DkPÎß «x Ámi 10,000 

 2016&2017 BsiÀ C¸¢x GkUP¨£hõ©À •ß öPõsk 

ö\À»¨£mh ÷u´©õÚ® ¹.25,000 ©v¨¥mhõÍ¸US C¸¢ux. 

©v¨¥mhõÍº öuõÈø» •iÄUSU öPõsk Á¢x AøÚzx 

ö\õzxUPøÍ²® ÂØÖ •izuõº. 

23. Narrate the tests which are essential to determine agricultural 
income. 

 ÂÁ\õ¯ Á¸Áõø¯z wº©õÛUP ÷Ási¯ AÁ]¯©õÚ 

÷\õuøÚPøÍ ÂÍUPÄ®. 

24. Mrs. Lakshmi aged 50 years submits the following information: 

 Taxable salary - Rs.12,00,000 

 Interest on bank deposits - Rs.20,000 

 Long term capital gain - Rs.40,800 

 Taxable house property income - Rs.1,80,000 

 Deposit in PPF - Rs.60,000 

 LIC premium - Rs.1,20,000 

 Compute the tax liability of Mrs. Lakshmi for the Assessment 
Year 2019-2020. 
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 50 Á¯uõÚ v¸©v »m_ª ¤ßÁ¸® ÂÁμ[PøÍ \©º¤UQÓõº 

 Á›US Em£mh \®£Í® - ¹.12,00,000 

 Á[Q øÁ¨¦UPÎß «x Ámi - ¹.20,000 

 }sh Põ» ‰»uÚ Buõ¯® - ¹.40,800 

 Á›US Em£mh Ãmka ö\õzx Á¸©õÚ® - ¹.1,80,000 

 PPF øÁ¨¦ ö\¾zxuÀ - ¹.60,000 

 LIC •øÚ©® - ¹.1,20,000 

 ©v¨¥mk Bsk 2019&20 À v¸©v »m_ª°ß Á›¨ö£õÖ¨ø£U 

PnUQhÄ®. 

–————— 


